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Table 1: table1

Estimate Std. Error t value Pr(>|t|)
(Intercept) 5.006 0.0728022 68.761639 0
Speciesversicolor 0.930 0.1029579 9.032819 0
Speciesvirginica 1.582 0.1029579 15.365506 0

Table 2: table2

Estimate Std. Error t value Pr(>|t|)
(Intercept) 5.006 0.0728022 68.761639 0
Speciesversicolor 0.930 0.1029579 9.032819 0
Speciesvirginica 1.582 0.1029579 15.365506 0

Table 3: table1

Estimate Std. Error t value Pr(>|t|)
(Intercept) 3.428 0.0480391 71.358540 0
Speciesversicolor -0.658 0.0679375 -9.685366 0
Speciesvirginica -0.454 0.0679375 -6.682608 0

Table 4: table2

Estimate Std. Error t value Pr(>|t|)
(Intercept) 3.428 0.0480391 71.358540 0
Speciesversicolor -0.658 0.0679375 -9.685366 0
Speciesvirginica -0.454 0.0679375 -6.682608 0

Table 5: table1

Estimate Std. Error t value Pr(>|t|)
(Intercept) 1.462 0.0608585 24.02294 0
Speciesversicolor 2.798 0.0860669 32.50960 0
Speciesvirginica 4.090 0.0860669 47.52118 0
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Table 6: table2

Estimate Std. Error t value Pr(>|t|)
(Intercept) 1.462 0.0608585 24.02294 0
Speciesversicolor 2.798 0.0860669 32.50960 0
Speciesvirginica 4.090 0.0860669 47.52118 0

Table 7: table1

Estimate Std. Error t value Pr(>|t|)
(Intercept) 0.246 0.0289419 8.499792 0
Speciesversicolor 1.080 0.0409300 26.386510 0
Speciesvirginica 1.780 0.0409300 43.488878 0

Table 8: table2

Estimate Std. Error t value Pr(>|t|)
(Intercept) 0.246 0.0289419 8.499792 0
Speciesversicolor 1.080 0.0409300 26.386510 0
Speciesvirginica 1.780 0.0409300 43.488878 0

$Sepal.Length NULL

$Sepal.Width NULL

$Petal.Length NULL

$Petal.Width NULL
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